ok S A 27 o o

@ B ®C @D @ E

@ A



Tk S A Ao A Cofl Ao A4

®Vi2 @ VIT @ V3l @ V3 O VR2



3.

o
o
4
Iy
2
=
X
W)
4
Y
2,
d
B
_O'L
rr
n
Ak
B
rir
D

@ 35
@
242 ® 62 @ 42
® 50



4.

4x% +Axy+9y* = (Bx+Cy)? & 1, o]
o] ¢t shd?

O 14 @ 15 ® 16



5.

2 -16x+[  [PraRAgEAel 2, [ ]

O -4 @ -8 ® -16 @ 64

&

09

® 256



=

5 Ao] SR o] WA SH= A, B o @S 247 ot

oo

x? 4+ 16x + A, 9x% + Bxy + 25y?

D A=64,B=230 @ A=+64,B= =30
® A=64,B==30 @ A=+64,B=230

® A=64,B==15



o|J

o}
olig
Nfo

ojn

a

D a<0°]H Va2

@ a<bolH

(a=b)?=a->

2 0 ot}

-5

4
Ho

@ 09 A

®

(=5)?



e % 82 27

oo
Mo

=
K

@ V102 V2 9] 5 Hjolc},

@ 25 9] AlEFL2 5 ot

® -/(-3)? & -3 °lch.

@ V16 o] AlFLL +4 olct

® -8 9o 2o AlFIL - V8 otk



op

o] AlE

©
=

© v o

©® -9



